Qip:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

feafafag uy & Ro o Roew & & wy B
(?) & TAT T IS AT TEAT F T

8 3 4 4 5| 6
2 | 22 5 |11 5| 7
Options:
1)28
2) 25
3)30
4) 32

Correct Answer: 25
Candidate Answer: 25

QD:2-
How many rectangles are there in the given figure?

& T pla F fraa T ¥

Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6




QID:3-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered ifrom 5 to 9. A letter from lhese matrices can
be represented first by its row and next by its column, for example, *J' can
be represented by 20, 96, etc_, and ‘T’ can be represented by 12 89, etc.
Similarly, you have to idenlify the sel for the word “TILL",

T QEg dad U JE-Ueg g0 guilEn Imm &, 3 fn feedt & @
Rl o 3 RGIT T § faedr  RU T HEET-IWE 6T W ar oo
gRT &AW TW R, o fe ©Y 9w gr el # § g & FaeA 3R
Ot @1 dEar 0 ° 4 § 3R ImgEl & 5 @ 91 39 IRy & T 3R
H upel A ufey 3T A # TorH §w &R R e @emar ¥
sERRvr & R o @ 20, 96 3R g goben s o@aEn § o T | 12,
89, 3G gRT SR = Tl & ST 0% o HUEA oA & G oeg
“TILL? o o0 W[ B TedeeT &

Matrix-1 Matrix-ll
Y- Ll
0|1(2]|3|4 5(6|7(8]9
O|A|E|T]S([N S5|D|F|A|K|L
1L Z]T]Y]| I 6|01 |S|P|X
2lJ|1G|wW|I|a YIFIE|L|O|N
3IM|IE|Z]|S|T §|P{M|A[C]|T
4|1 Z|K|F|C| Z 91 Q| J|T|Y] I

Options:
1)12,02,10, 56

2) 89, 65,97, 59
3)23,02,13,77

4) 97,99, 59,10
Correct Answer: 97,99, 59, 10
Candidate Answer: 97,99, 59, 10

QID:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T 9T A # ¥ 37 s AT o 3w
o # oy el BT B




Options:

1)
2)
i1}
11]
3)
m
i1}
4)
Correct Answer:
Candidate Answer:

QID:5-

Which answer figure will complete the pattern in the
question figure?

wd O I HEE U Aga & ulaww ® Q@
FN?

"~




Options:
1)

Correct Answer:

Candidate Answer:

QiD:6-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg T SUUT Fr AB YW1 T T@T ST, ar & IS
IR MGl # § B W Ea U gia A
wér ufafess aefe




Options:

1)
A

4)

A
4

Correct Answer:

A
@

Candidate Answer:

A I
@

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & TN aEad # RET 3EEUR Fee @
ABRL el JAT Tield & IE I8 T IR 3G
Shar g game

A A |la

D A e o T e e WP T o i M Y/



Options:
1)

Correct Answer:

Candidate Answer:

QID : 8 - What will come in place of question mark (?) in the given equation?
17?21176718?236=9
g m1q Titerzor A ust fug (?) & e wR an smgm?

17?711726?18?36=9
Options:

1) +x <and -

+, X, + AT —

2) £, x,+and -

+, X, + duT -

3) -, x,+and +

=, X, + dUT +

4) -, +,xand +

=+ XduT+

Correct Answer: —, +,x and +
=, +, X dAT =+

Candidate Answer: —, +, x and +
-, 4 X dur+

QID:9-1f9B3A1=12and6B2A2=10,then4B6A2="7

aff9B3A1=12da6B2A2=108,a4B6A2=?
Options:

1)8

2)12

3)10

416

Correct Answer: 16

Candidate Answer: 16




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series

2. Secular
3. Singer

4. Single

5. Semantic

Frfafea el ol areaaler § o aret e & e |

1. Series

2. Secular
3. Singer

4. Single

5. Semantic

Options:
1) 21543

2) 21534
3) 25134

4) 25143
Correct Answer: 25134
Candidate Answer: 25134

QID : 11 - In the following question, select the missing number from the given series.
1,2,23,3,4,4,5,?,?

fefafEa wer & fog 7y fasedt § @ g siek w1d Hifsrg

1,2,2,3,3,4,4,5,?,?

Options:
1)6,7

2)5,6
3)7,8
44,4

Correct Answer: 5,6
Candidate Answer: 5, 6

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AD, CE, EF, GG, ?
TR SigeRd o T &, o § Ue ue e 21 Ry g et @ a8 Tt fiened g, St argeRn o i e

AD, CE, EF, GG, ?
Options:

1) HI

2) IH

3) JH

4) JI
Correct Answer: |[H
Candidate Answer: [H

QID : 13 - In the following question, select the odd word from the given alternatives.

Frafafed e g 1y et & § faws g ot gfgl
Options:
1) Heart

gad
2) Lungs
S

3) Kidneys
i
4) Nose

BIED

Correct Answer: Nose
HTeh

Candidate Answer: Nose
Th




QID : 14 - In the following question, select the odd number pair from the given alternatives.
iR e & Ry e Reredt & @ Rvw g gm &t gfhwl

Options:

1)4-12

2)6-18

3)7-22

4)8-24
Correct Answer: 7 — 22
Candidate Answer: 7 — 22

QID : 15 - In the following question, select the odd letters from the given alternatives.

refafea vy F Ry g Recdt & § v sierf o g

Options:
1) DH

2) N
3)MP

4) TX
Correct Answer: MP
Candidate Answer: MP

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Pulses, Eatables, Wood
g S gAY St A &g g ot 3 < & Heie o Het AT et &1

aTel, @rel uerdf, sTeRe
Options:
1)

@

2)

3

1,

4

00
®

Correct Answer:

@




Candidate Answer:

@

QID : 17 - In the following question, select the related word from the given alternatives.

Tiger : Mammal : : Frog : ?
Freafafed e b g 1y el § & H3fda ez @ gfgl
Y U ;AR ?

Options:
1) Insect
Hie

2) Amphibian
SHTR

3) Sponge
s

4) Vertebrate
AT

Correct Answer: Amphibian
IHIR

Candidate Answer: Amphibian
IHIR

QID : 18 - In the following question, select the related number pair from the given alternatives.
22:2002::7?:?

Frafafed e g 1q feredl & @ Haifda g gm & gfgl

22:2002::7?7:7

Options:

1) 44: 4004

2) 83:1260

3) 47 : 4070

4) 32:3200
Correct Answer: 44 : 4004
Candidate Answer: 44 : 4004

QID : 19 - In the following question, select the related letters from the given alternatives.
KNIFE : JMHED : : TOOL : ?

Frafafea e 8 g v Rl & € 96fda sieri @ gl

KNIFE : JMHED :: TOOL : ?

Options:

1) SNNK

2) SNNJ

3) UNNK

4) UNNJ

Correct Answer: SNNK

Candidate Answer: SNNK

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
INDUSTRIES

Fafafed et 3 @ ag arss gy Sit fig 71g 2reg & a1er o1 UaiT ohech T8 STt ST SehdT|

INDUSTRIES




Options:
1) DUST

2) STAR
3) RISE

4) DINE
Correct Answer: STAR
Candidate Answer: STAR

QID : 21 - There are 90 trees in a row. Lemon tree is 14t from right end and mango tree is 23" from left end. How many trees are there between lemon and mango
tree?

Qe dfth A 90 gar &1 ig o &1 3 SR | 14 & § T 37 &1 987 a1 R & 23 & §1 g aar oA & ge1 & fi= v gar §?
Options:
1) 53

2) 54
3)52

4) 55
Correct Answer: 53
Candidate Answer: 53

QID : 22 - The present ages of U and V are in ratio 5 : 4. 8 years later their ages will be in ratio 6 : 5. What is the present age (in years) of V?

U aarV & adam g 5 @ 4 & Sgard & &1 8 ¥ usyia 3R Smg 6 : 5 & Sigurd # geftl V Y g oy (awt H) w82

Options:
1)32

2)40
3)48

4) 24
Correct Answer: 32
Candidate Answer: 32

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All red are blue.
1. No blue is white.

Conclusions:
1. No red is white.
1l. Some white are red.

12 g 7TQ ve F @ R SfR S aTG S R R TR o sy ey 1Tg &, gTeifes S | A ae § O g Send! 81 |t frsend v ofik fiRr FrafRa &R fh Ry Mg @
& e, &g TG ST o SR R gicheiTa &l

GCH
1. goft et Fiet &
I1. g i Tthe & 81

e
|. I et Tthe T8l g1
1. $® Tthe A1 8l
Options:
1) Only conclusion (1) follows.
fasa (1) @l g1
2) Only conclusion (I1) follows.
hae fsRe (1) &t 81
3) Both conclusi%n follow.
|
4) Neither conclusion (1) nor conclusion (11) follows.

it e (1) =1 € Frees (1) @& 21
Correct Answer: Only conclusion (1) follows.

Serer Frepd (1) @) 21

Candidate Answer: Only conclusion (1) follows.

Shaer feed (1) Tt 81




QID : 24 - In a certain code language, "VERKA" is written as "SBOHX". How is "DAIRY" written in that code language?

ek fafre ste urer #, "VERKA" @t "SBOHX" foiaT ST1dT 81 39 ahte urem # "DAIRY” &t fohd wepR ferar semm?
Options:

1) ACULE

2) FVWXB

3) AXFOV

4) WZRIB
Correct Answer: AXFOV
Candidate Answer: AXFOV

QID : 25 - In a certain code language, "FAT" is written as "26" and "FAR" is written as "24". How is "FOR" written in that code language?

ek fafre srte e §, "FAT" <Al "26" qT "FAR" &l "24" forar ST 1 39 @i 91T & "FOR" &t fohr UepR forar smeam?
Options:

1) 37

2)38

3)34

4)39
Correct Answer: 38
Candidate Answer: 38

QID: 26 -
Which of the following statement(s) is/are true?

[ %’7‘»%@
. 411> 37

Trafreg # § fld are 39 00 we?
[ §ﬁ>$f§
I 4137

Options:

1) Only |

e |

2) Only Il

e Il

3) Both land Il

| g 1l Y

4) Neither I nor Il
aartagn

Correct Answer: Only |
Ghad |

Candidate Answer: Only |
e |

QID : 27 - What is the unit's digit of 131237
13123 o1 gents 3ies eRT 82

Options:
1)1

2)7
3)3

4)9
Correct Answer: 7
Candidate Answer: 7




QID: 28 -

What is the value of 316+ /4 + /36 ?

316 + & + /36 & AT T E2

Options:
1)19

2)16
3)18

4)14
Correct Answer: 18
Candidate Answer: 18

QID : 29 - Which of the following number is divisible by 3?

frafof@a & & o @t 9 3 & Rersa 82

Options:

1) 97825

2) 123965

3) 97843

4) 321648

Correct Answer: 321648

Candidate Answer: 321648

QID : 30 - What is the value of [(7.4)3 + (1.9)3] = [(7.4)%2 - 7.4 x 1.9 + (1.9)}]?

[(7.4)3 + (1.9)3] + [(7.4)2 - 7.4 x 1.9 + (1.9)?] &I A AT §?
Options:

1)9.6

2)8.7

3)9.3

4)8.5

Correct Answer: 9.3

Candidate Answer: 9.3

QID : 31 - Which of the following statement(s) is/are true?

I. There are 16 multiples of 7 from 1 to 116.
1. 69 is a prime number.

frafaf@a 3 4 o i/ & 9 8/8?

L. 19116 ae 7 & 16 I &1
I1. 69 TR WY T¥EaT 2l
Options:

1) Only |

had |

2) Only Il

e Il

3) Both land Il

| o Il gt

4) Neither I nor Il
FatlTg

Correct Answer: Only |
e |

Candidate Answer: Only |
&ae |

QID : 32 - Two pipes A and B can fill a tank in 10 hours and 12 hours respectively. Pipe C can alone empty the same tank in 20 hours. If all three pipes are opened
together, then in how many hours will the tank be filled?

31 UTST A 9T B Ueh &bl i shART: 10 52 9T 12 6§ § R Teha &1 U1 C It Eohl Rl 31ehatt 20 & B @ieft R [ehan g1 afe waft fini ursal ot ves vy @it Rz o3, &t &t fopam €
7 R WREAR?
Options:

1)15

2)7.5

3)12.5

48

Correct Answer: 7.5




Candidate Answer: 7.5

QID : 33 - Two pipes P and Q can fill the tank in 900 and 100 hours respectively. If they are opened together, then in how many hours will the tank be filled?

St OIS0 P aUT Q ek deht ohl shHRT: 900 T 100 © H R Tehd &1 afe g1 urdul ot ues w1 @it feam ST, at &bt fohae | & oR sifi?

Options:
1) 900

Correct Answer: 90
Candidate Answer: 90

QID : 34 - What is the area (in cm?) of a triangle having sides 5 cm, 12 cm and 13 cm?

537, 12 .. qur 13 .. oo aret et a1 deher (§.701.2 H) @ 82

Options:
1) 60

2) 30v3

3)30

4)15v3

Correct Answer: 30
Candidate Answer: 30

QID : 35 - A profit of 30% is made after giving a discount of 15% on an article. If the marked price of the article is Rs 3120, then what is its cost price (in Rs)?

e % TR 15% &l g &1 & Ui 30% el T giaT 31 Al g ot Sifchd 7o 3120 T 5, At IHehT sha el (3 H) R 8?

Options:
1) 2100

2) 2230
3) 2040

4) 2260
Correct Answer: 2040
Candidate Answer: 2040

QID : 36 - Prashant purchased an article at a discount of 40% and sold it to Rahul at 40% profit. What is the ratio between the marked price and the price for which
Rahul purchased the article?

T2Tid Rt a%g Sl 40% T Pe TR BT & AU T8 g i 40% S &1 TR < S 21 Sifhd e a1 9 70 IR g A a%g ! @IS 8, o 1< ol S1gaTd T 82

Options:
1)3:1

2)7:3

3)10:7

4)4:3

Correct Answer: 7 : 3

Candidate Answer: [ NOT ANSWERED ]

QID : 37 - Three numbers are in the ratio 1: 2 : 4. If the sum of their squares is 1029, then what are the numbers?

T AT 122 2 4 3 SrgUTd | g1 3 Ik &t T anT 1029 g, df S R a?

Options:
1)7,21,14

2)7,14,42
3)7,14,28

4)7,23,29
Correct Answer: 7, 14, 28
Candidate Answer: 7, 14, 28

QID : 38 - B starts some business by investing Rs 120000. After 2 months, D joins business by investing Rs 44000. At the end of the year, in what ratio will they share
the profit?

B, 120000 % &Y Uit fAar sk Gen ATUR SR hedl &1 2 H1E & UL D, 44000 ¥ Fder o 39 MR & nfie g Sirar 81 96 & sid 8 a8 fora srgura & ary ardit?
/




Options:

1)36:11

2)11:12

3)36:23

4)11:14

Correct Answer: 36: 11
Candidate Answer: 36: 11

QID : 39 - The average of 4 consecutive numbers is 15.5. If previous 3 numbers are also included, then what will be the new average?

4 ShATTA TeETsdi o oftd 15.5 g1 afe; Ul 3 deemsii @t off snfirer e foran sy, &t 1 sitwa @n gim?

Options:
1)14

2)14.5

3)15

4)13.5

Correct Answer: 14
Candidate Answer: 14

QID : 40 - An article is sold at a profit of 60%. If the selling price is tripled, then what will be the profit percentage?

e a%g Y 60% o AT IR 9T STl 81 A frena e o o R <mg, o «my wfdiera < gimm?

Options:
1) 380

2) 58.33
3) 200

4) 125

Correct Answer: 380

Candidate Answer: 380

QID : 41 - By selling an article for Rs 420 there is a profit of 20%. What is the cost price (in Rs) of the article?

ek a5t 420 3 H 9 IR 20% T A1 SiaT & | %] I 3 ed (T H) T 82

Options:
1) 400

2)375
3)350

4) 320

Correct Answer: 350

Candidate Answer: 350

QID : 42 - 2000 is first decreased by 25% and then it is increased by 30%. What is the final value?

2000 &l Uget 25% & e T 9207 foR I 30% & e | Sifaw 7 o 82

Options:
1) 1950

2) 1650
3)1800

4) 1700
Correct Answer: 1950
Candidate Answer: 1950

QID : 43 - Two numbers are 30% and 40% less than a third number respectively. First number is what percent of the second number?

3l Ty Uen <fIet TeeT & shuen: 30% 9T 40% S &1 Ugel! TRedT Sust ST ot fohar ufdsrd 87

Options:
1) 108.33

2)121.11
3)116.66

4)102.22
Correct Answer: 116.66

Aamdidaba Amacicane 11z ce




QID : 44 - A car travels at a speed of 75 m/s for 4 hours. What is the distance (in km) travelled by the car?

en &R 75 #1./3. A 1Y & 4 502 Toh Tt B R gR1 ot ot (e #) s g &2

Options:

1) 1000

2) 1050

3) 1080

4) 1100

Correct Answer: 1080

Candidate Answer: 1080

QID : 45 - Baman goes to a place at a speed of 10 km/hr and return home at 4 km/hr. What is his average speed (in km/hr)?

A 10 5.4t /e i 1y B g 2 aes Srar & a4 6.t /e Hy 1fa @ o= o sirar 81 Tt sitad i (6.t /eier #) @ &2

Options:

1)5.5

2)5.7

3)6.2

4)9.8

Correct Answer: 5.7
Candidate Answer: 5.7

QID : 46 - What is the compound interest (in Rs) on a sum of Rs 14000 for 2 years at the rate of 5% per annum compounded annually?

14000 ¥ & HAL TR 5% I a1ftfeh &= TR aTtich HST & 2 aN] ol Tehqfeg, ST (T H) 1 8?

Options:

1) 1430

2) 2880

3) 1435

4) 1450

Correct Answer: 1435

Candidate Answer: 1435

R a e P e oot oGt D))



QID: 47 -
The line chart given below shows the number of
child births (in 000’} in 2 hospitals A and B from year 2011

to 2015.

A feT ow Y@r B # s§ 2011 @ 2015 g% 2
HITTATAT A d2T B # Sed oled Irer g==l T TE
(000’ #) =T ZamT =T

—+— Hospital A / 37&9drel A =~ Hospital B / 37&9dre B

— 400 -

2 -~

S 320

co.

T8 300

g S 255 200 255 252 255

c. 250 238 250

o 200 -

o & 204

i

£F

EF 100 .

= = o™ 5! < Te)
o o o = o
o o™ (Y] [ o

Year/a§

In how many years, was the number of child births in hospital B higher than that in hospital A?

foham oot &, sreuare B # a1 gY s Y §ET SRuard A § sifdie ofi?
Options:

1)5

2)4

3)0

4)3

Correct Answer: 3

Candidate Answer: 3

I O L T e e e o TR




QID: 48-

The line chart given below shows the number of
child births (in 000’} in 2 hospitals A and B from year 2011
to 2015.

dFr T ov Y@r =Y # 9§ 2011 @ 2015 gF 2
HTTATAT A 27 B H F=H ol Irer ==t T TE
(000’ #) T ZATT 1T

—— Hospital A / HTIdreT A =C- Hospital B / 37&9drer B

- 400 -

S -

SF 320

C -

=S8 300 -

s S

k=

5 200

s & | 204

s

£f

EFr 100 .

= = o™ ™ ~t Te]
o o o ) o
o (o] [ ] [t} (9]

Year/a¥

What is the percentage change in the number of child births in hospital B from year 2011 to 2013?

2011 & 2013 dch, STeudrer B # T gY e i §een & uiaerd uiad= @ar 8?2
Options:

1) 66

2)15

3) 6.66

4) 50

Correct Answer: 6.66

Candidate Answer: 6.66

| TS o P s AT ool 0 o U S e 11




QID: 49-

The line chart given below shows the number of
child births (in 000’} in 2 hospitals A and B from year 2011
to 2015.

dFr T ov Y@r =Y # 9§ 2011 @ 2015 gF 2
HTTATAT A 27 B H F=H ol Irer ==t T TE
(000’ #) T ZATT 1T

—— Hospital A / HTIdreT A =C- Hospital B / 37&9drer B

- 400 -

S -

SF 320

C -

=S8 300 -

s S

k=

5 200

s & | 204

s

£f

EFr 100 .

= = o™ ™ ~t Te]
o o o ) o
o (o] [ ] [t} (9]

Year/a¥

In hospital A, what was the percentage change in the number of child births from year 2013 to 2014?

e A H, a6 2013 § 2014 d TaT gY F=a i T | niaerd aRkadd e off?
Options:

1) 30%

2) 28%

3) 20%

4) 25%

Correct Answer: 20%

Candidate Answer: 20%

| TS o P s AT ool 0 o U S e 11




QID: 50 -

The line chart given below shows the number of
child births (in 000’} in 2 hospitals A and B from year 2011
to 2015.

dFr T ov Y@r =Y # 9§ 2011 @ 2015 gF 2
HTTATAT A 27 B H F=H ol Irer ==t T TE
(000’ #) T ZATT 1T

—— Hospital A / HTIdreT A =C- Hospital B / 37&9drer B

- 400 -

S -

SF 320

C -

=S8 300 -

s S

k=

5 200

5 &g | 204

s

£f

EFr 100 L — . . . A

= = o™ ™ ~t Te]
o o o ) o
o (o] [ ] [t} (9]

Year/a¥

What was the average number (in 000") of child births in hospital B from year 2011 to 2015?

a9 2011 § 2015 deh, Sr¥udTel B 7 91 gQ el ol Siiera ST (000" #) &m oft?
Options:

1) 275

2) 238

3) 204

4) 263

Correct Answer: 263

Candidate Answer: 263

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select ‘No Error'.

Childhood is the (1)/ world of miracles (2)/ and magic (3)/ no error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Ira found herself alone (1)/ in the desreted schoolhouse yard (2)/ in the afternoon (3)/ No error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

—_—
I o O e s T e P e i e e M )



QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

It is unfair for officer to do this to his subordinates.

Options:

1a

2) an

3) the

4) No option is correct.
Correct Answer: an

Candidate Answer: an

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Nature is __ best medicine.
Options:

1)a

2) an

3) the

4) No option is correct.
Correct Answer: the

Candidate Answer: the

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Supernatural

Options:

1) Mirage

2) Mystical

3) Morality

4) Secrecy

Correct Answer: Mystical

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Vituperate

Options:

1) Abuse

2) Appreciate

3) Copy

4) Encourage

Correct Answer: Abuse

Candidate Answer: [ NOT ANSWERED ]

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Zest

Options:

1) Passive

2) Enthusiasm

3) Disgust

4) Various

Correct Answer: Enthusiasm

Candidate Answer: [ NOT ANSWERED ]

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

still

Options:

1) Active

2) Passive

3) Serene

4) Slow

Correct Answer: Active

Candidate Answer: Serene

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Genius
Options:
1) Donkey
2) Dumb
3) Derive
4) Devise




Correct Answer: Dumb
Candidate Answer: Dumb

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Mitigate

Options:

1) Abate

2) Intensify

3) Calm

4) Compose

Correct Answer: Intensify

Candidate Answer: [ NOT ANSWERED ]

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the [diom/Phrase.

Every cloud has a silver lining

Options:

1) Difficult times will lead to better days
2) Difficult times are tough to handle

3) Difficult times need our attention

4) Difficult times are not to be scared of

Correct Answer: Difficult times will lead to better days
Candidate Answer: Difficult times will lead to better days

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All at sea

Options:

1) Something outstanding

2) Forgive all

3) State of confusion

4) Living in Luxury

Correct Answer: State of confusion
Candidate Answer: State of confusion

QID : 63 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "No improvement".

Despite (the far away location), Seetha has been a huge support to Meera all her life.
Options:

1) the huge distance between the two

2) the far away distance between the two

3) the huge location

4) No improvement

Correct Answer: the huge distance between the two
Candidate Answer: the far away distance between the two

QID : 64 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

You must not forget to call me after you (reach) the Durban.
Options:

1) have reached

2) will reach

3) will have reached

4) No improvement

Correct Answer: have reached
Candidate Answer: have reached

QID : 65 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

The arrangement or disposition of people or things in relation to each other according to a particular sequence, pattern, or method
Options:

1) Enter

2) Encourage

3) Order

4) Baggage

Correct Answer: Order

Candidate Answer: Order

QID : 66 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

pleasant-sounding

. - .
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Options:

1) Conservative

2) Melodious

3) Improper

4) Tuning

Correct Answer: Melodious
Candidate Answer: Melodious

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Wastness

2) Vastness

3) Wasteness

4) Vasteness

Correct Answer: Vastness

Candidate Answer: Wasteness

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Tropikal

2) Tropical

3) Trapical

4) Tropicol

Correct Answer: Tropical

Candidate Answer: Tropical

QID : 69 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

Faiz

P: natural talent

Q: hasa

R: for befriending people easily
Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: QPR
Candidate Answer: QPR

QID : 70 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

Life

P: bed of roses

Q: so be ready for the worst
R:isnota

Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 71 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The world's oldest plant fossil has been found at Chitrakoot in the Uttar Pradesh state of India. The fossil is ___to be around 1.6 billion years old. Fossils are ___ of
plants and animals that are preserved (kept safe) inside rocks. These fossils were found within sedimentary rocks (a kind of rock that is found in layers) in Chitrakoot,
aregion that is ___ to be rich in fossils. Before this _, the oldest fossils were 1.2 billion year old remains of red algae found in Canada. The Chitrakoot _ also
appear to be remains of red algae. Red algae are water plants found in coral reefs.

The fossil is to be around 1.6 billion years old.
Options:

1) disturbed

2) discovered

3) damaged

4) discover

Correct Answer: discovered

Candidate Answer: discovered




QID : 72 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The world's oldest plant fossil has been found at Chitrakoot in the Uttar Pradesh state of India. The fossil is ___ to be around 1.6 billion years old. Fossils are __ of
plants and animals that are preserved (kept safe) inside rocks. These fossils were found within sedimentary rocks (a kind of rock that is found in layers) in Chitrakoot,
aregion that is ____ to be rich in fossils. Before this ___, the oldest fossils were 1.2 billion year old remains of red algae found in Canada. The Chitrakoot ____ also
appear to be remains of red algae. Red algae are water plants found in coral reefs.

Fossils are of plants and animals that are preserved (kept safe) inside rocks.
Options:

1) flowers

2) seeds

3) remains

4) leaves

Correct Answer: remains
Candidate Answer: remains

QID : 73 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The world's oldest plant fossil has been found at Chitrakoot in the Uttar Pradesh state of India. The fossil is ___to be around 1.6 billion years old. Fossils are __ of
plants and animals that are preserved (kept safe) inside rocks. These fossils were found within sedimentary rocks (a kind of rock that is found in layers) in Chitrakoot,
aregion that is ___to be rich in fossils. Before this __, the oldest fossils were 1.2 billion year old remains of red algae found in Canada. The Chitrakoot __ also
appear to be remains of red algae. Red algae are water plants found in coral reefs.

These fossils were found within sedimentary rocks (a kind of rock that is found in layers) in Chitrakoot, a region that is to be rich in fossils.
Options:

1) now

2) known

3) knew

4) nice

Correct Answer: known

Candidate Answer: known

QID : 74 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The world's oldest plant fossil has been found at Chitrakoot in the Uttar Pradesh state of India. The fossil is __to be around 1.6 billion years old. Fossils are __ of
plants and animals that are preserved (kept safe) inside rocks. These fossils were found within sedimentary rocks (a kind of rock that is found in layers) in Chitrakoot,
aregion that is ____ to be rich in fossils. Before this ___, the oldest fossils were 1.2 billion year old remains of red algae found in Canada. The Chitrakoot ___ also
appear to be remains of red algae. Red algae are water plants found in coral reefs.

Before this , the oldest fossils were 1.2 billion year old remains of red algae found in Canada.
Options:

1) recovery

2) discovery

3) worry

4) refinery

Correct Answer: discovery

Candidate Answer: discovery

QID : 75 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The world's oldest plant fossil has been found at Chitrakoot in the Uttar Pradesh state of India. The fossil is _to be around 1.6 billion years old. Fossils are __ of
plants and animals that are preserved (kept safe) inside rocks. These fossils were found within sedimentary rocks (a kind of rock that is found in layers) in Chitrakoot,
aregion that is ____ to be rich in fossils. Before this ___, the oldest fossils were 1.2 billion year old remains of red algae found in Canada. The Chitrakoot ___ also
appear to be remains of red algae. Red algae are water plants found in coral reefs.

The Chitrakoot also appear to be remains of red algae. Red algae are water plants found in coral reefs.
Options:

1) fuel

2) fossils

3) trade

4) fish

Correct Answer: fossils
Candidate Answer: fossils

QID : 76 - Which among the following is true about labour (as factor of production) in India?

fFrafafea & @ o o1 TRa F o & IR F 98l 8 (T & R h w4 H)?
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Options:

1) It is most abundant

ug 99 R AT A @

2) It is least abundant

g FeIY A [T H

3) It is moderately abundant

g AT A A Y

4) No option is correct
fored i

Correct Answer: It is most abundant
g g ifder AT A §

Candidate Answer: It is most abundant
g gag 3fdes A A

QID : 77 - Which among the following sectors of Economy has seen a maximum rise since economic reforms in India?

IR 7 snfefep GURY & w18 § srefegae & frafafea &= § @ foras wet sumer seiad g3 87
Options:

1) Primary

wrafies

2) Secondary

s

3) Tertiary

4) No option is correct
I ot forene agt 72 &

Correct Answer: Tertiary

Candidate Answer: Secondary

QID : 78 - Which article has been described as the ‘very heart and soul' of Indian Constitution by Dr. B. R. Ambedkar?

21 ff. IR, SrieTR gRT fohd Srfede i YR TAeT ol 'gea T 1T & U H afvia forar mar 2

Options:

1) Article 1
TG 1

2) Article 21
ATBE 21

3) Article 32
BT 32

4) Article 260
DT 260
Correct Answer: Article 32
TDE 32

Candidate Answer: Article 32

3rges 32

QID:79-1Ina/an

TRHR H, AsTifcies Aichdl el 31fdieh T Sifdies ATReRT A RS i St 81

Options:
1) aristocratic

government, political powers are distributed among as many citizens as possible.

2) autocratic
Qahad

3) plutocratic
Yq-dx

4) democratic

Correct Answer: democratic

Candidate Answer: democratic
Alehdifh

QID : 80 - What are microliths?

STETTSTOT T B 82




Options:

1) Stone tools
UeR & 3R
2) Iron tools

3) Copper tools
a3 sfeR
4) Shield

@Il

Correct Answer: Stone tools
TR &

Candidate Answer: Copper tools
i & SR

QID : 81 - In which Indian state did the Champaran movement start?

TR Sfele fohet YR 5 # & gor or?

Options:
1) Bihar

2) Uttar Pradesh
IR TS

3) Madhya Pradesh
T URT

4) Bengal

A

Correct Answer: Bihar

Candidate Answer: Bihar

QID : 82 - What is the position of Mars from the Sun among the eight planets?

3116 Tgi A 77T GI F i It I R [ 82
Options:

1) First

gt

2) Second

TR
3) Third
dRRr

4) Fourth
i

Correct Answer: Fourth
e

Candidate Answer: Fourth
ey

QID : 83 - What are the fixed paths of all the eight planets around the sun called?

T T TR TR aTet ST 3116 g1 o M oot o1 shgd 87
Options:

1) Geoid

-3

2) Circumference

aRfa

3) Orbit

<hEll

4) Perimeter
qRATg

Correct Answer: Orbit
<h&ll

Candidate Answer: Orbit
el

QID : 84 - On which part of the human-eye is the image formed?

g 31 & hg 9T R o It &2




Options:
1) Retina
fesm

2) Cornea
Sifar

3) Optic nerve
eI B

4) Iris

31ig Y gaett

Correct Answer: Retina
e

Candidate Answer: Retina
e

QID : 85 - The process by which waste by-products are removed from the body is commonly known as

g ufthar gRT IRR T SUfAT IS Y e ST &, 39 UihaT i SR T & A Y ST ST g1

Options:
1) Reproduction
USTaq

2) Respiration

3) Excretion

4) Suction
07

Correct Answer: Excretion

Candidate Answer: Excretion

QID : 86 - Dark muscular diaphragm that controls the size of the pupil is known as

I1eh Uit STATSRI it foh Sttt gaett ol Fafd o € S5 gl ST 8

Options:
1lcornea

2) ciliary muscles
2

3) iris

i &Y gaelt

4) crystalline lens

Correct Answer: iris
i fY gaett

Candidate Answer: ciliary muscles

Rafererdt Aiwafvat

QID : 87 - Which type of mirror always forms an erect and virtual image?

ohT UepR & SUUT gHRN Uk Wl a7 SR Y ard &2

Options:
1) Concave
3fedel

2) Convex

I

3) Plane

HHAA

4) None option is correct

Correct Answer: Plane
HATA

Candidate Answer: Plane
THadA

QID : 88 - Because of which phenomenon a lemon kept in water in a glass tumbler appears to be bigger than its actual size?

or weaT Y aorg @, ur & e & # war fig o arafies SR & g # g e &2




Options:
1) Reflection of light
YIS <RI

2) Refraction of light
TeRIT Y

3) Total internal reflection
Bl

4) Mirage

s

Correct Answer: Refraction of light
TIhIRT T

Candidate Answer: Refraction of light
TIhIRT T

QID : 89 - What is an mp3 format?
T3 TR T &7

Options:
1) Audio format
Sifeat uRey

2) Video format
difsar aea

3) Text document
[ a1 g STt

4) Image file
R st

Correct Answer: Audio format
Jiffeat ureg

Candidate Answer: Audio format
fireat oy
QID : 90 - What is the chemical formula of Quick lime (solid)?

o1 g3 gon T (1) T TR G T 87

Options:
1) Cao

2) Cay0
3) Ca0,

4) 06202
Correct Answer: Cao
Candidate Answer: Cao

QID : 91 - Burning of paper is an example of which type of reaction?

HTITST ST ST fohd HehRR ch! STTATEhAT AT S&TeRur 87

Options:
1) Physical reaction
aftfereht srfAiferar

2) Chemical reaction
3) Both physical and chemical reaction
sifafran

qar
4) No option is correct

Correct Answer: Chemical reaction
Sifafrar

Candidate Answer: Chemical reaction

QID : 92 - Brackish water ecosystem contains high amount of content.

@R uTt & mRfefe T d & AT e i gt 1

Options:
1) salt
THER

g%:gugar

3) iron

4) manganese
HHS




Correct Answer: salt
"Hh

Candidate Answer: manganese

QID : 93 - Under which campaign was the Sukanya Samriddhi Yojana launched on 21st January 2015?
21 SHE 2015 ot fohe ST & g YehwaT e AYSTT i [earTa i 77 ofi?

Options:

1) Beti Bachao, Beti Padhao

& Faren, I ggrstt

2) Rashtriya Madhyamik Shiksha Abhiyan
i et e

3) National Scheme of Incentives to Girls for Secondary Education.
Treafies fRuen & forg refaat ot ieare

4) Adolescence Education Programme
foReiiRTereer fRvam wrfemm

Correct Answer: Beti Bachao, Beti Padhao
e T, 3 versht

Candidate Answer: National Scheme of Incentives to Girls for Secondary Education.
arenfies e & forg srefordt it ticarg= i T gt
QID : 94 - Who invented the bifocal lens?

femiendt e a1 snfasepR fhaa fomar ar?

Options:
1) Karl Benz
I Sol

2) Benjamin Franklin
3) Richard Taylor
Rad T

4) William Harvey
faferam g

Correct Answer: Benjamin Franklin
Thepfert

Candidate Answer: William Harvey

QID : 95 - Which is the only sport where chanting / speaking is mandatory?

PRI T RIS T §, STgT AT / St e §?

Options:
1) Kabbadi
Fagl

2) Cricket
fehehe

3) Hockey
gt

4) Wrestling
et
Correct Answer: Kabbadi

Candidate Answer: Kabbadi

QID : 96 -

A A A F e o R e st der ARy Rt @ dgada S €1
Options:

1) Ajanta

SfSidr

2) Ellora

caves in Madhya Pradesh are the finest example of pre-historic cave paintings and murals.

3) Bhimbetka

i Creal

4) Elephanta

Tefither

Correct Answer: Bhimbetka

Candidate Answer: Bhimbetka
B itcreal




QID : 97 - In 2017, which prize was awarded to the Geneva-based International Campaign to Abolish Nuclear Weapons (ICAN)?

2017 & fSiRar & dexAsmer o g sreifaer geeftor duwy (smsfiues) fore qreenr & wwmifaa forar ma &2
Options:

1) Nobel Peace Prize

Hide ifd gewnr

2) Lenin Peace Prize

AfA rifd gredR

3) Gandhi Peace Award

et 2ifd QAR

4) None of these

T A T2

Correct Answer: Nobel Peace Prize
et erifd geenR

Candidate Answer: Nobel Peace Prize
EIEGRUIGR* IS

QID : 98 - Who is the author of the book named “An Introduction of the Dreamland”?

" SIE ISR ST & SRS AT Radh o oach i 87
Options:

1) Mahatma Gandhi

wgTeAT et

2) Bhagat Singh

o &g

3) Jawaharlal Nehru

TTATER A %

4) Lal Bahadur Shastri

AT TEIGR A

Correct Answer: Bhagat Singh
T g

Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Which country hosted the second summit of the Pacific Islands countries, Forum for India-Pacific Islands Cooperation(FIPIC)?

forer a1 3 Ui gl Tig &2ff, RA-UIid Z10 9Hg 9gdiT BRA (ThImsUlensT) o gur fRrer T dt deart i

Options:
1) Solomon Islands

2) India

YR

3) Fiji

fosht

4) Papua New Guinea
arger 3

Correct Answer: India
AR

Candidate Answer: India
AR

QID : 100 - Cox's Bazar of is the longest unbroken sea beach in the world.

I iR FTSTR G-I H e wel §F deh ST T8 ¢ &

Options:
1) Nepal
[T

2) Bangladesh
Erice)

3) Myanmar
AR

4) Pakistan
LuGasic

Correct Answer: Bangladesh
ElEice]
Candidate Answer: [ NOT ANSWERED ]




